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If 4 Dozen papers cost Rs.24, how
much would one score papers cost?

[TET-12]
1) 812 2) 8.20
3) 8».10 4) 8. 14
SEresdn 3
VS5Bes

4 Sesy = 48 ShHen
1 s = 20 Sshen

48 20
AN
24

WWW.nipuna.ntnews.com,
www.facebook.com/ntnipuna

DT BHG DTRDOaN,D8 HBAR,60
880K eBoh Fordy HONS B PP e wokod T°Y Foow Bad )
FEris HOIYT08 $oeBE S0SHIFLS BV0AS dTBLE BTN
EDae DoHes a)o?.ago»go&.

SoPBos50: 208DS adQexwrsd wdh 8L Sexod Srd FYIE =56

SHoS5850 Kooy 5696(%% ‘orezroesod) 36 eaavg ©DOD0H.

2. 6 8. Srddoy Jo 6r.84 wand

71, 8.0 srutsion So(rrabos)
If 6kg Mangoes cost Rs.84. Then the

cost of 7 %Kgs Mangoes? [TET-2011]
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If the cost of 4 kg. Sugar Rs.120, Find
number of Kgs Sugar that can be

purchased for Rs.195(In kgs).[DSC-2012]
1 6% 2) 4%
3) 5% 4) 2%

Hregeiddio & 1
D5Bes 1
4 ——120
? 195
fxids
Required Value N —li(} N 6% Kgs.

&
2

(or)
1
A
+30 T T+30
120 195
4, 11 :{pﬁé;’me R r 121.55 wo» B8

o) DR5&» Jo (Erardhed®)

If the cost of 11 Book is Rs.121.55,
then the cost of one book (In Rs.)

[AP-TET-2014]
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6 Bottles of Fruit Juice is Rs.210. But
how much is 4 Bottles of fruit Juice?

[AP-TET-2018]
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.. Cost of 4 Bottles is Rs.140
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If 20 tons of Iron cost is Rs.6,00,000,
how much does 500kgs of Iron cost

(In Rs.) [AP-TET-2018]
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A Lorry needs 54 liters of diesel to

travel 297 Km. How much diesel is
needed to travel 550 Kms.

[AP-TET-2018]
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If the cost of 6 Books is Rs.96, then

the cost of 15 books? [AP-TET-2018]
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If the cost of 12 pencils is Rs.24. Then
cost of 10 Pencils? |AP TET-2018]
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A Family of 6 members needs 30Kg.
of rice. How many Kilograms of rice
are needed as the number of members
increases to 167 |AP DSC-2019]
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